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Question 1

a)

Express 54 808 correct to 2 significant figures

(1
b) Express 0.000532 in scientific notation {(H
la*h®
P
<) Simphfy V!aﬁbé (2}
d) Express 021 asa fraction in simplest form (2)
e) The area of a trapezium is given by A = g(a +b) {2)
Find the value of @ given 4 =624, h=26 and b= 18
Question 2
a) Expand and simplify (a+ b¥a - b) - a(a —2b) {2)
b)  Simplify 5; + 277 (2)
¢) Solve [1-2x =5 (2)
d)  Simplify (24/5)° @
Question 3
a) Factorise fully
i) 6x* —Tx—=3 2)
i1) x*-16 ®))
1) 2P -zl vz-1 (2)
v) -8 @



é

Question 4

) Simplify 22 )
Q- x”
b) Solve simultaneously forx and y (3)
3x -2y =29
dx+5y=8§
2. .
) Express TR in the form g + /& where a and b are rational (3

Question 5

.a) Solw::x;J 4“2x=1

S (3)
b) Consider the function y = V10— x
i) Explain why the domain of this function is restricted, (1)
il) Hence state the natural domain of y = Jio=x O
c) How many points of intersection have the graphs of x° + y* =4 and y=x" +4? (3)

Justify your answer graphically,

Question 6
. a) Sketch the following functions. Label any important points.
y y=~9-x (1)
i1) y=x +4x=5 (2)
b)  Solve Px+1 =3x-2 (3)
c) Factorise 9 —(x + y)? (2)




Question 7

aj

The diagram shows part of a function y = Fix (H
aY
y=rx
> X

1) Copy the diagram onto your answer sheet

i) Complete the graph of y = f(x) given that it is an odd function.
b) Find the exact solutions of x(2x +1) =2 (3)
9) i) On the same number plane, graph y = |x~1 and y= Ix+2 (2)

ii) Henee or otherwise solve [x -1 = lx+ 2 (2)
Question §
a) For what value/s of x is xxx<x+x? (2)
b} Consider the function y =1+ 1

X

1) For what value of x is the function undefined? (1)

i) Find the x intercept (1)

ii1) What is the equation of the horizontal asymptote (H

) Hence sketch the curve (3}

End of Paper
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Question |

a)

-4
b 5-32Z x 10

i

55 000 or 5-5x 10
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Question 3
{ 3+ i}&x:&)

&

&

o (= (x4 4)

= (@ D-DEHA

£ ;‘5’; -i?; ‘ . _
W 22(z-D+ (z-~1)
dy et x= 02 = (z- D(2%+ )
100 x = 2{- 21 ....
19 x = 2l . (y-2)(y*+2y+4)
o021 = 7 | —_—
® =2 Queshon 4
© A=4h (a+® a) _x(3-x) _ x
624 = %@ {a-é-afs) (3+2)(3-%) 3+ x
48 = o+ I8 B B3x- Zy = 29 0]
a = 30 4L +5y = 8 @
Ox4: 12x-8y < e @
Question 2 @x3° 1214-15}, = 24 @&
) a-b - a’+ 2ab |
= 20b- b
@
B 3x-3 4+ 2%~ 6
& e
= Bx-9
&
o I-2x=5 or [-2x=-5
2 = -4 2% =
E - x* = 2B
dy 205 x2J/5 x2J5 = $x5J5




Guestion S

Wxx-3 -“x4-2x
2 32
3(x-3)- 2(4-2x) =
3 -9~ T+ 4x =
7x =
X =

b

:ixé

we cant evaluate +he

sciuare root of a nregafive

number
il 0-x

0
X

B 2xtl= 3x-2 or 2X¥{=2-3y

3 = Sx;.f:
£ _ !
laé x
Check soluhonsg !
x= 3 miy

o [ 3+ (x+)I( 3~ (x+y)]
= (3+x+y)(3-x-y)

-5

Queshon 7
a) i YA

y’:: f()ﬂ)

>

b 2x 4+ x = 2
2x%+ x-2 = O
x= - {tJi1*~4.2.-2

2.2




Questiorn 8
a) A XX < A+ X
x* < 2x
z
xX°- 2% < O
x{x-2) < O
\ /

o o

02

O<x< 2

i f@‘i‘ Y*_O
L
O= [+ %

X = -

[T} x = |




